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A FINAL GAME: WINNER TAKES ALL .

Directions:  Roll two dice. If the sum of the two is&7

1.

Player A wins the game. If the sum is 8, Player B wins.
Continue rolling the dice until there is a winner.

Suppose you have the choice to be Player A or Player B. Which would
you choose? Explain your decision.
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ANOTHER GAME FOR TWO PLAYERS

Directions:  Roll two dice. If the sum of the two is 2, 3,
4,10, 11, or 12, Player A gets 1 point (and PlayerF'_
Mum is5,6,7, 8 or 9, Player B gets 1
point (and Player A gets O) Continue rolling the dice.
The first player to get 10 points is the winner.

1. Isthisa fa1r game? Why or why not? T‘ﬁ\b%@&kt 1% alvme s - Sele
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2. Play the game with a partner (You can play several
games if you need to). Do the results of playing the

ame s ort our answer to Question 1? Explain. Yes .
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3. If you think the game is unfair, how could you change 1t
so that it would be fair? - -— - S |
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ok
/ - Roll two d1ce If the sum of the two 18 2 3,

4,10, 11, or 12, Player A gets 1 pomt (and Player B -
* gets 0). If the sumis 5,6,7,8 or 9, Player Bgetsl = L
omt (and Player A gets O) Contmue rolhng the dlCC w d
® *’ The f1rst player to get 10 pomts 1S the winner.- — T 7
¢ . ?‘ . %1
% 1. Is this a fair game? Why or why not?, e, dhr one :
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2. Play the game with a partner (You can play several

games if you need to). Do the results of playing the
game Support your answer to Questlon 1‘7 Explain.
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ANOTHER GAME FOR TWO PLAYERS

Directions:  Roll two dice. If the sum of the two is 2, 3,
4,10, 11, or 12, Player A gets 1 point (and Player B
gets 0). If the sumis S5, 6,7, 8 or 9, Player B gets 1
point (and Player A gets 0). Continue rolling the dice.
The first player to get 10 pointsis the winner.

1. Is this a fair game? Why or why not?

2. Play the game with a partner (You can play several
games if you need to). Do the results of playing the
game support your answer to Question 1?7 Explain.

3. If you think the game is unfair, how could you change it
so that it would be fair?
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ANOTHER GAME FOR TWO PLAYERS

Directions:  Roll two die. If the sum of the two is 2, 3, 4,
10, 11, or 12, Player A gets 1 point (and Player B gets
0). If the sumis 5, 6, 7, 8 or 9, Player B gets 1 point
(and Player A gets 0). Continue rolling the die. The
first player to get 10 points is the winner.

1. Is this a fair game? Why or why not? €] Ghis ¢ S ot %1
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2. Play the game with a partner (You can play several
games if you need to). Do the results of playing the
game support your answer to Question 1? Explain.

s becowse ?a/dﬁ»? A ’”0847@6 he 4ime.

3. If you think the game is unfair, how could you change it
so that it would be fair?
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ANOTHER GAME FOR TWO PLAYERS

Directions:  Roll two dice. If the sum of the two is 2, 3,
4,10, 11, or 12, Player A gets 1 point (and Player B
gets 0). If the sumis 5, 6,7, 8 or 9, Player B gets 1
point (and Player A gets 0). Continue rolling the dice.
The first player to get 10 points is the winner.

1. Is this a fair game? Why or why not?
DO becmse @L&"Q&r B {\,CLA (Y\.AA/YY\JOWA M\OUJL LXO-&,

2. Play the game with a partner (You can play several
games if you need to). Do the results of playing the
game support your answer to Question 1?7 Explain.
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3. If you think the game is unfair, how could you change it
so that it would be fair?
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ANOTHER GAME FOR TWO PLAYERS

Directions: ~ Roll two dice. If the sum of the two is 2, 3,
4,10, 11, or 12, Player A gets 1 point (and Player B
gets 0). Ifthesumis 5, 6,7, 8 or 9, Player B gets 1
point (and Player A gets 0). Continue rolling the dice.
Thc first player to get 10 points is the winner.

1. Is this a fair game? Why or why not?
No P/jy‘/ g o5 1 Ae
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2. Play the game with a partner (You can play several ,n - a Anbye
games if you need to). Do the results of playing the g s A
game support your answer to Question 1? Explain.
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ANOTHER GAME FOR TWO PLAYERS

Directions:  Roll two dice. If the sum of the two is 2, 3,
4,10, 11, or 12, Player A gets 1 point (and Player B
gets 0). Ifthe sumis 5, 6,7, 8 or 9, Player B gets 1
point (and Player A gets 0). Continue rolling the dice.
The first player to get 10 points is the winner.

1. Is this a fair game? Why or why not?
(0 Ragec B Dom=es BHE Tolied et

OMen € Ceodn ) Pre o Nager WS nomrmees

2. Play the game with a partner (You can play several
- games if you need to). Do the results of playing the
game support your answer to Question 1?7 Explain.

3. If you think the game is unfair, how could you change it
- 8o that it would be fair?
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